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INTERNATIONAL AND AREA STUDIES
PAPER - III

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.
1.  Who among the following referred to Geopolitics as “a pseudo-science, erecting the factor of

geography into an absolute that is supposed to determine power and hence the fate of
nations” ?

(1)
€)

Hans J. Morgenthau (2)

(4)

Barry Buzan

Halford Mackinder N.J. Spykman

2. What does “Lebensraum” signify ?
(1) Political domination (2)  Economic domination
(3) Strategic domination (4) Biological domination
3.  Who among the following rejected the idea that “might makes right” ?
(1) Thomas Hobbes (2) Emmanuel Kant
(3) Thucydides (4) Machiavelli
4.  Who among the following stated that “the balance of power system was not only inevitable,
but also an essential stabilizing factor in international relations” ?
(1) E.H. Carr (2) Hans J. Morgenthau
(3) Trevor Taylor (4) Kenneth Waltz
5.  Who among the following advanced the psychological character of nationalism ?
(1) E. Gellner (2) A.Giddens (3) J.G. Herder (4) P. Brooker
o-sos [N : Faper
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AT TE & 3T

91 U - 111

e : 38 TE-T9 § UUgTR (75) Jg-Tashedtd Y9 § 1 Tie U9 o oY (2) 3FF § 1 Wt yea 3irfrard ¥
1. frfafed § 9 feam y-Toifa =1 ' sa-fagm & &9 § afufeq fen o1 St ypia & 9@ =01
Fruial H wel a1 € SR 8 wifed ofR 39 YR @ Ui 1 v feifia e v A faerd €702
1) TE. uhfeR 2) I
() TR Hfdhrex (4) TA.S. THEHEA
2. ‘woEm’ % Aty frefafed § 9 wE-w 82
(1) Terifas g 2) e wE
(3) Yordifash w (4) Sifow 9
3. frAfafed 4 @ fFem 38 deheun &1 7o) o i vfed & stferer 1 gem S ' 2
(1) omEEs (2) EHITA i
(3) ofeeEsd (4) afFmad
4. freAfafed & @ feas o8 wom § fw ' oifaa Sgem gomett fads emafierd & =& off, afew a8 siaisa
Toell § STevas SqoreRl wReE ot 872
(1) 3T &R (2) TESANYR
(3) M TN (4) Y AT
5. freifera & @ foram Tegare & TGS 91 1 gfqarfed fean?
(1) % @R 2) v firggw (@) S TR (4) . g
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6. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : International organizations, such as the United Nations and NATO now
also operate with a definition of security that is multi-sectoral and embraces
a broader agenda, and not just the military dimension.

Reason (R) : This reflects an increasing recognition by bodies such as the United Nations
that, while the focus on military power during the cold war era was
understandable, there was an urgent need to address the non-traditional
threats, including human insecurity, climate change and so on.

Codes :

(1) Both (A) and (R) are correct

(2) Both (A) and (R) are not correct

(3) (A) is correct, but (R) is not correct

(4) (A) is not correct, but (R) is correct

7.  Identify the correct code for the Assertion (A) and the Reason (R) as given below :

Assertion (A) : The number of refugees worldwide continues to increase and the problems
have not been resolved.

Reason (R) : The proliferation of ethnic, religious and territorial conflicts exacerbates
refugee problems which are often overlooked as primary causes of refugee
generation.

Codes :

(1) Both (A) and (R) are incorrect

(2)  (A) is correct but (R) is not correct

(3) (A) is not correct but (R) is correct

(4) Both (A) and (R) are correct.

8.  Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The environment is now seen as a security issue by governments,
international organisations and general public.

Reason (R) : Securitization of the environment is widely accepted.

Codes :

(1) Both (A) and (R) are correct, but (R) is not the comprehensive explanation of (A)

(2) Both (A) and (R) are not correct

(3) (A) is correct, but (R) is not correct

(A) is not correct, but (R) is correct
D.sus ||H||H||\|H||HHH||||\HH|HHHHH| ;
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6. SIMUHRYIT (A) 3R @k (R) eq FHAfafad § @ @@ %e fafea #wifaw
AFMURYT (A) : AL TS SIY TIF T 3R AT 376 FR&T 1 Tah TRATH % 1 9 B &
T i Siges € IR foen waven fak fafaed geuf @ 7 Jea =i 1
e (R) : TEY G T S 6l g1 Uad ®9 9 39 927 1 Wier T s gfafettea
B & T oiags & SRA et € fafered wifs W ot e s =6t =ra 99 o e
T I IR-IReufies SRl e e STHReT, Serary] uRad s1ife W e fou S =+t
STITEvashal off |

e :

1) (A) 3R (R) T 9&t 1

2)  (A) 3R (R) AT Tl &
3)  (A) e ¥, W (R) 9 TR B

(
(
(
4) (A) W TR 2, W (R) T B

)
)
)
)

7. SAMURYT (A) 3R @k (R) & foru frfafaa & @ w&@ #e fafea ¢ -
AfwYT (A): T fava H eRonfET F Hen sedt S W@ R SR 59 I 1 qHiEE Tel e wen
Tl
e (R) : oI, enfier 3R & Test 1 yeRiqyad YRunelt gHen i g s § e
T IR S % Gl R % ®Y H TRt fRar S §

%<
1
2
3
4

(A) 3R (R) ST TTerd B
(A) WEl § 9 (R) WEl & 2 |
(A) T2 T € =g (R) T T

)
)
)
) (A) 3R (R) TH TET |

(
(
(
(

8. AfUSmYT (A) 3R Tk (R) & fTT W& e &1 == HIfWT
AR (A):  TAIH H, THRI, SFARLE TSI 3R AT 1 GRI TATSR0T %1 T g8 & &9
HI@ s wWR
qh (R) : TATSRUT & HREITHIU ] STIF ®7 H WHHR fHa1 <1 €
e :
1) (A) 3R (R) T T2 §, W (R), (A) Ft A0 A1 7 2 |
2) (A) R (R) IH &t 7
(3) (A) TEl T, TR (R) Tl 71 7
(A) W&l T €, T (R) WE 2 |

D.sus HIH\IHH\H\|||\|||M||\|H|\III||H|!|H\||\|IH\I\IHHI\
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The concept of ‘Social Darwinism” was advanced by which one of the following writers ?

(1) Frederick J. Turner (2) Brook Adams

(3) A.T. Mahan (4) John Hay

Who among the following thinkers made the observation that - ‘the idea of global politics
challenges the traditional distinctions between the domestic and the international, between
the territorial and the non-territorial, as embedded in modern conceptions of
‘the political” ?

(1) Hedley Bull (2) David Held (3) Richard Falk (4) Ian Clark

Which one of the following is an integral component of the Electronic Warfare ?

(1) HUMINT 2) ECCM (3) TECHMINT  (4) PGMs

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Currently Kashmir issue is moving somewhere near mid-way in the conflict
stabilization stage. To take it beyond the mid-way point of conflict
stabilization is the tricky act.

Reason (R) : Despite the overall security space firmly being controlled by the security
forces, the Indian Army is supposed only to handle the periphery while the
core is managed by the civilian leadership and agencies.

Codes :

(1) (A) is correct, but (R) is not correct

(2)  (A) is not correct, but (R) is correct

(3) Both (A) and (R) are correct, but (R) is not the only explanation of (A)

(4) Both (A) and (R) are not correct

India’s Geosynchronous Satellite Launch Vehicle (GSLV) project, including the development
of a fully indigenous cryogenic engine, was approved in the year :

1990 2) 1993 3) 1992 (4) 1987

=)}
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9. Trfafed sl ¥ 4 foen amfSes eifdaare’ st staaron &1 gfadre foa o ?

(1) Wefe . R (2) oF TSHE

(3) T3 TR (4) ST

10. freifera faamel § & foeaa =g stfywa =1 foran o ' Sfvaess ToHifa 6t arom =ie] o R STwRisa
F o9, & iR TR-aeg & o9 wemmmd fa9di & gAdt It §, S {6 ‘ ertfas’ aws &
sy foeml ® wfAfea €2

(1) T<dl ga 2) =fae e (@) f=E w® (4) TIH FATH

11. Fr=afafed § @ #F @1 saaites 35 &1 e e § 2
1) = 2) sHLETA (3) <EfE= (4) st

12. = fou Tu tfeRe (A) 3R @k (R) & folt W&l Fe &t Uga Hifee

AMURT (A) :  TAHE § FHIAR e e B hel Gor TEiehior ) o1ewen ¥ ToR W g1 39 9o
oot o weed! formg @ M o ST Tk Uil i R

e (R) : Y GRET T 1 GRaT el R gearga e (afd ot S & Sras[e TH /T Sl
T for JIRdTE I AR R w1 & YEE B § Selfh HEwul el H yeE
fafafeem g qen wofar s €

e :

1) (A)F R, g (R) & 72 T

(A) 9 TE %, g (R) §RT €
(A) 3R (R) <1 ¥ ¥, fFg (R), (A) 1 ol Tk AT 7 ¢
(A) 3R (R) ST &1 &I 2 |

13. TF UiqAl @RIl ®wENHE 99 % fow dfed uRa w1 fSEifa=rg Gewne a9 aged
(Sh.ug.wa ) i fog ad g &f T8 ot ?

1990 2) 1993 3) 1992 (4) 1987

(1)
o-sos [ MFANL A
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14. Which one of the following countries had not used India’s Polar Satellite Launch Vehicle

(PSLV) to launch its satellite ?

(1) Germany (2) South Korea (3) Belgium (4) The United States

15. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Keeping in view as part of non-traditional security challenge for India, the
unregulated trans-border movement of people exposes the population to
communicable diseases such as TB, HIV, bird flu, polio, etc.

Reason (R) : This has serious implications since control of such diseases is not easy, should
they spread to the dense population centres on the Indian side of the border
or hinterland.

Codes :

(1) (A) is true, but (R) is not true

(2)  (A) is not true, but (R) is true

(3) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(4) Both (A) and (R) are not true

16. Keeping in view the “freedom from want and resource scarcity”, who among the following
made the idealistic statement that “ I See God in the smiles of the poor” ?

(1) Thomas Homer-Dixon (2) Vinoba Bhave

(3) Mahatma Gandhi (4) Jawaharlal Nehru

17. Who among the following propounded that ‘the great power that dominated Eurasia would
effectively dominate the world” ?

(1) Halford Mackinder (2) Rudolf Kjellen

Hans J. Morgenthau (4) N.J. Spykman
psors IIHIIHIHIH\||!H||||H|“|\|H|HHIIHI\HIIHI : —
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14. frAfafEa <o & 9 69 <0 7 0 ITUR &1 Y& FH o A0 IRA o god STE F&9u 9=
(R.TE.TAFN.) &1 TN G o ?

(1) S (2)  Sfaror i (@) afcsEH (4) STl

15. = QU 7T feR oM (A) T ek (R) & AT W&l e & T8a HIIT

AMUHRAT (A):  9RA & U STIReqfias GRan Faef AN o 37 & &9 °, Al 1 AEId 1 4
1 % AR-IR STERHA TERt & fae A, 3.6, J98 T, e, g
SIY Hohte I HT WA U7 FAT

e (R) : Ife 3 T IRA -9 § 21 39 fiqdt feedi # o ovmenet # el S0 1 s
TR Sfeetard Yer gt =iifer TR AT R 07 T T ST R g

) (A)TE E, T (R) WEl &

) (A) W T E, fhe (R) TR

(3) (A) T (R) S T E, 3R (R), (A) T WLl =R R |
) (A) T (R) S W& & 2|

16. frfafed § § foras Saredi it & X 199 § 6l &1 &9 § @ gU I8 STeuics e
fean o & TRie 1 qEpee § $YoR I ST g ?

1) omE T-feam (2) foAren 9=

(3) e e (4) SO TEE

17. Tr=fafed o 9 feem g yfquifca foren ot 6 ' e wifem, fem Rmn W) 9@ o, g9t &9
9 fova W gy wenfua &weft'’?

(1) erhie Hfswey (2) ESTEH oA
(3) TS WA (4) TS, TAEHEA

o-sos [ MFANL A :
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18. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Since the insurgents say they are fighting a people’s war, the authorities
must win the people over by demonstrating that it is the government forces
that are fighting the war for the people.

Reason (R) : Media coverage is oxygen to such campaigns against insurgents. The
principle should be : “Report, but do not reveal”.

Codes :

(1) Both (A) and (R) are correct, but (R) is not the explanation of (A)

(2) Both (A) and (R) are not correct

(3)  (A) is not correct, but (R) is correct

(4) (A) is correct, but (R) is not correct

19. Identify the country among the following countries which had declared ‘Air Defence

Identification Zone (ADIZ)" over the East China Sea :

(1) Japan (2) China (3) The US (4)  The Philippines

20. Who among the following thinkers conceptualized that “ To have command of the air means
to be in a position to prevent the enemy from flying, while retaining the ability to fly
oneself” ?

(1) W. Mitchell (2) Alexander de Seversky

(3)  G. Douhet (4) B. Brodie

oo [N 10 papeca
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= fau U stfirerRer (A) 3R ek (R) & T W& F2 &1 TeaH HifWT :

afirrer (A) : I foerdt wed € for a1 &t oier @ie w €, safen wiremfe &1 9 weii
XA gU ST ! fe@m T =fen foh TR drehd &1 STal o e e o Wi € |

e (R) : TR e g vER fagifedl & ufd T oifam & foaw stedie ® 1 sEe
g : ' RuR wifs, faeg Tehe 7a HifsT’’ 21 =mfeT |

ETE

(1) (A) 3R (R) ST ¥ €, g (R), (A) T =A@ T &1
(2) (A) &R (R) I W T

(3) (A)F& T §, fFg (R) 9T 2

4) (A)E& T, T (R) W&t 7 €

Frefafed <o | 9 f78 <o A 9ol <1F 9FR & W ' 99 & 9e9H 8 (TELAE S, ) ' Hifta fha

frefafad foemenl 9 9 forem 98 Heahean &t for o &3 =901 39 &1 e @ 3 9 &t
&THAT SFTT T@H o G197 917 1 S 9 § Ak i feafa H @A 4 8772

1) =g, e (2) STciaSIe S HaHh

(3) it =fee (4) o SrE

o-sos [ MIFANE AT "
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21. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : A major lesson that has emerged from the recent conflicts, particularly those
in Afghanistan, Iraq and Syria, is that a guerrilla force that operates from
safe havens among rural population cannot be subdued by air strike alone.

Reason (R) : The US and its allies couldn’t prevail over the ISIS militia without committing
ground troops on the ground to fight a protracted insurgency against them.

Codes :

(1) Both (A) and (R) are correct, but (R) is not the explanation of (A)

(2) Both (A) and (R) are not correct

(3) (A) is correct, but (R) is not correct

(4)  (A) is not correct, but (R) is correct

22. Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The Iran-US Nuclear Deal is a success of US diplomacy and a climb-down
on the part of Iran.

Reason (R) : The Iran-US Nuclear Deal opens up opportunities for Iran to end its isolation
and embark into the mainstream of global development.

Codes :

(1) (A) is correct, but (R) is not the correct explanation of (A)

(2) both (A) and (R) are correct

(3)  (A) is not correct, but (R) is corroboration of (A)

(4) Both (A) and (R) are incorrect

23.  Which one of the following countries replaced Saudi Arabia as India’s largest Crude oil

Supplier ?

(1) Qatar (2) Angola (3) Nigeria (4) Iran

ososs [ VRCANAN 2 Faper
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21. frafafeq sifuswkem (A) 3R @& (R) & U @& % HT Tga™ HifT

ATHRAT (A): BT & Horef, Tt o S STHiTEd, S0 iR Hifn o =t ®@ € SUQ U o
o1d I8 T e § T fiean areRd S ATHOT STrerel & wed R T @ eTu
T FETer W@ § STl AT gHCl § h1e el oAl S Hehdl |

ek (R) : T, IR THh 73 < TR H.AE.CH. & faeg dal dek | o9 91 &l AN
o 1. we. 3mE. v, Syanfed W g e B Hehd ©

) (A) 3R (R) I TE 2, Thq (R), (A) 1 W& =men 74 T
) (A) 3R (R) SHT w&t T T |

3) (A)wE g fohg (R) wEl 78 €

4) (A) W& TE € fohq (R) &1 B

22, 9 feu mu tfireRer (A) 3R ek (R) F foiw Wet Fe 1 ve= Hifee

ATUFRAT (A) : - STHLRT AMYHT GHAAT STHARFT TS H Fhed § 3R W *T IR 4
e T HeH T

T (R) : A - TR AYHTT FHSA SO 1 7Y STTE HHE i IR dfvash
fohTa 1 EA9 # IHA T 1 STEH UM FIA ¢ |

{d‘:
(1) (A) W&l &, fhq (R), (A) 1 HEl AT & 2|
) (A) 3R (R) ST W T

) (A) W& T E, TR (R), (A) F GRE il €
)

(A) 3R (R) S T&l -T&f €|

3
4

23. Trefafed 3of § 9 ffE <91 7 9RA 1 §99 9 % dd & SAfdhdl & 9 § T34 3T 1 TN
o fan 272

e (3) St 4) =M

(1) ()
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24. The Tunisian democratic groups, who helped restore democracy in Tunisia are collectively
known as :
(1) Tunisian Human Rights Quarter
(2) Tunisian Democratic Union
(3)  Tunisian National Dialogue Quarter
(4) Tunisian Labour Union
25. Match List - I (events ) with List - II (places) with the help of the codes given below :
List - I List - II
(Events) (Places)
(a) Libya’s pro-democracy movement (i) Manama
(b) Demonstration in Yemen (i) Sana’a
(c) 2011 uprising in Syria (iii) Benghazi
(d) Peaceful protests in Bahrain city (iv) Daraa
Codes :
(@ (b) (o) (d)
O @ G 0 )
@ G @ ) 6
@) Gv) O @) @
@ O ) @
26. In the first debate between the realists and idealists, the realists had several criticisms of the
idealists. Which among the following is not true ?
(1) The idealists are utopians.
(2) They do not understand the value of power in the international system.
(3) Idealism hardly offered a theory of explanation. Instead of explaining the world, they
were telling us what the world ought to be.
Idealists gave primacy to the concept of anarchy.
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24, MR Arekdites T6gl, e AfRmn # diewas &1 98T &3 § GerEdl Hi, & 9w aR W

fr=fafad 4 9 forg ®9 § S ST € 2

(1) AT g Teed Fos

(2) JFREA SHsh{ew I
() IR T A Fel
(4)  TRER T e

25. = fQU T i WEEd € G - [ (TSR ) I Gt - 1 (W ) 6 9 GAfAd &

T -1 gl - 11
(T ) (T )
(a) fiforn H elierds qH® e i YHA (i) H
(b) ITAF H H U (ii) G
(c) i # 2011 1 fosie (iii)  STSTt
(d) A HiE H wfagel g (iv) =M
%<
@@ () (o) (d)
1 @) @ @ )
() ) @) @) @)
G) Gv) @) @) (i)
@ @O (@) @ ()

26. Fenefanfedi iR ereyianfedl % s T8 qoh-fadeh & aH, Fenefarfed| & I Aesianfed &1 Tw
ATArE off | Frerfafad o 9 Si9-91 92 & § 2

(1) STeYER! Hedaeh! 3id © |
(2) o ST e H i & Yo ! T8 T7ed ¢ |

(3) TexIaR! sATEN TRt fagid 3 U H I3-%al wHaE ® 21 3 favea &1 =t 1 %
T T I8 9a1d W) ¥ R fova T 2 =nfew

(4) STCREIGEl TSRl I ALY &l THE & |
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27. Identify the nature of the Cham Society in South-east Asia.
(1) Patriarchal (2) Matriarchal (3) Anarchical (4) Polyandrous
28. Identify the year in which the framework agreement on comprehensive Economic co-operation
between ASEAN and India was signed :
(1) 1967 (2) 2000 (3) 2003 (4) 2005
29. Name the author who made the following statement, “From pre historic times all these
[South-east Asian| peoples seem to have shared the same lack of inventiveness and have
been receptive rather than creative when brought into contact with foreign civilizations” :
(1) Georges Coedes (2) D.G.E. Hall (3) John F. Cady (4) Ellen]. Hammer
30. Identify the name of the South-east Asian leader who advocated “Look East” policy 1981.
(1) Mahathir Mohamad (2) Suharto
(3) Sihanouk (4) Ferdinand Marcos
31. Identify the year in which the French established ‘Indo-China Union” :
(1) 1848 (2) 1862 (3) 1887 (4) 1900
32. Name the author who wrote the Book “Struggle For Indo-China” :
(1) D.GE. Hall (2) R.D.Hill
(3) George B. Cressey (4) Ellen]J. Hammer
33. Devaraja cult was related to the worship of which of the following ?
(1) Lord Shiva (2) Lord Vishnu (3) Lord Brahma (4) Lord Buddha
S 1 —
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1) g (2) HIHARHESR (3) SR (4) SgUfqIATETE

SR <M TR WRA o o9 AT AT Tedi Sa et Hoemas R fohd o gt o1 ?

(1) 1967 (2) 2000 (3) 2003 (4) 2005

frefafed 5 9 form oas 7 I8 gaae foan ' yriifaeifas o 9 31 9+t [<faor-gd wfvms] @ o
SMfahRENdT St THM FH Fodid eidt © 3R 3 fasit gezramsti & @ gvush | T W go s eF
1 I TEURI Feftd B &'

(1) S Hed ) ESE e (3) SETE FE  (4) TEAS TR

= feu e e feror-qd wfvreng Aarsti § | <9 S 1 AW Ay {5 ad 1981 8 & o s ifa
eRTeTd i ot

(1) WeI*R Hewg (2) gewt
(3) foeg® (4) TS wERig

TRttt - fohd ad ‘Se-=TeAT I’ Y TTa S ot ?

(1) 1848 ) 1862 (3) 1887 (4) 1900

frafafeaa § fra das 7 ' e w gE-aEA’ ame IR faet 2
(1) LS e 2) . fea
(3) ISt off. shelt (4) TEE S TR
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34. Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : In August 1966, Mao launched the Cultural Revolution in order to purge
the party of the bourgeoisie.

Reason (R) : For the next ten years China’s youth - the Red Guards - rooted out alleged
rightists. Members of almost every Chinese family were negatively affected
in some way or another.

Codes :

(1) Both (A) and (R) are not correct

(2) (A) is correct but (R) is not correct

(3)  (A) is correct and (R) is also correct

(4) (A) is not correct but (R) is correct

35. Match List - I (Countries) with List - II (Years related to the independence of the countries)
by using the codes given below :

List - I List - II
(Countries) ( Year of Independence)
(a) Brunei (i) 1946
(b) Federation of Malaya (i) 1984
() Laos (iii) 1957
(d) The Philippines (iv) 1954
Codes :

@@ () (o (d)

() Gv) () @) ()
() G @@ @ ()

)
[

i) (i

(
Il

iv) (i)

4 (
o-sos [
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34. = fau T tfueRed (A) 3R @&k (R) & T W&t Fie i wg=M *ifT
AFRURYT (A) :  TIBT A 3T 1966 H FSIT TRl o TREHI0T T HShidh hif=1 i YH i off |
e (R) : 3T <9 u o fore =i ganeii - Yg MEH-A wfua faordfer #1 se fwan

Fe
(1)
(2)
)

)

(4

T YIS A1 IRER & Tl W fhd-7-fhH TR ¥ TR 9919 17|

(A) 991 (R) 31 W&l &1 2 |
(A) 721 ® o (R) W& T €|
(A) &l & 3R (R) +ff W&l €1
(A) W&l & & fohg (R) W& €1

35. frafafad ¥ - 1 (390) & Gt - 11 (S9N it waaar § garea faforat ) § gafaa #1 iR

frefafad se &1 9@ &
L el - 11
(&) (ST Wi Rt )
(@) T (i) 1946
(b) TRERM SH Tl (i) 1984
(c) eI (i) 1957
(d) Twefrdr= (iv) 1954
Fe :

[65)
— =~ ~  ~

—~
=~

D-9015 ‘

(
il

@@ (k) () (d)
) (@) (@v) (i)
iv) () (@) ()
(i) @) @G (Qv)

) (
il

i) (i

iv) (i)
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36. Arrange the following events in ascending chronological order with the help of given code :
(a) East African Community
(b) The Southern African Development Community
() The Economic Community of West African States
(d) UN Economic Commission for Africa
Code :
M © @ @ (b
2 @ @ (@ (b
G @ @ ® (©
@ © @b @ (@
37. Which of the following Falls is located in Zimbabwe ?
(1) Horseshoe Falls (2) Iguazo Falls
(3) Angel Falls (4) The Victoria Falls
38. Tanganika became Tanzania after its merger with which one of the following countries ?
(1) Somalia (2) Zanzibar (3) Southern Sudan (4) Eritrea
39. Zimbabwe shares its border with which of the following countries ?
(1) Botswana, Namibia, Angola, Zambia
(2) Malawi, Mozambique, Swaziland, Namibia
(3) South Africa, Botswana, Zambia, Mozambique
South Africa, Botswana, Malawi, Namibia
T 1 T
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i ST 7T 2w werEd @ FEAfafad sest o 3T ST HIeTshArdaR SFafeed HifiT

(a) Tt TRl T

b) <& TR faehE HHM

(
(c) TfeaHt STRIRT gl 1 T Te™
(d) STWhIRT oq GG g ST ™M

<

M1 (© @ (@ (b

2 @ @ (@© (b

B (@ @ (b (o

4 (© (b (@ (@

freafafed ¥ 9 wE-91 Siorgurd feremss o feoq €2

(1) TEy ®ia (2) SIS A

(3) T Wi (4) 3 fawRifEn wia

e fefafed 9 9 o T o0 & w19 faea & 9v=q dsia o 721 ?
(1) Hrmrfera (2) Sf=ER (3) iU gEr (4) slfea

S it W frefafea § & fw 3wt % we ot €2
(1) ST, Artferan, st Siftere

(2) AT, AN, Weiee, At

(3)  Sf&TuT STSRIH, ST, SfterEn, HsTfters

(4)  SfegoT STHIeRI, ST, TETE, ATt
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40. Match List - I (Countries Colonies) with List - II (Colonial Powers) by using the codes
given below :
List - I List - II
(Colonial Countries) (Colonial Power)
(a) Rwanda (i) France
(b) Senegal (i) Portugal
(c)  Seychelles (iii) Belgium
(d) Guinea-Bissau (iv) Britain
Codes :
@@ (b) (o) (d)
1 (v) @) @) ()
() G @) @ ()
G) @) @ (@) @)
@) @O @) @ @)
41. When did the organization of African Unity adopt the African Charter of Human and People’s
Rights ?
(1) December 1980 (2) June 1960 (3) June 1981 (4) December 1979
42. Match List - I (Current names of the Countries) with List - II, (former names of the
Countries) using the codes given below :
List - I List - II
(Current Names) (Former Names)
(a) Botswana (i) South West Africa
(b) Namibia (i) Bechuanaland
(c) Malawi (iii) Southern Rhodesia
(d) Zimbabwe (iv) Nyasaland
Codes :
@@ (b)) (o (d)
M O G GG
@ @ 6 @) G
@) i) @ @ @)
@) (v) @) @ 0
o-soss | MUERNAN 2 —
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40. frefafaad el o1 FaM Fd gC G - 1 (3ufamT) iR gt - 11 (3frafafie sifea) 1 gafed

HifeTT
T - 1 T - 11
(S9T-3ufamm) @frafrafere wife)
(a) TETUEl () ™
(b) T (i) gamA
(c) Tafired (iti) Sfesd
(d) i foers (iv) fered
<
(@ () (9 (d)
1) Gv) (@) @) ()
2 G (@Gv) @ (i)
®) @) @) o (v) (i)
@) @ (@) @G (@)

41. ST M SISV 7 ST = % T TUS Hed 328 &l Hdl SRR fohar o1 ?

(1) fea=R1980  (2) S 1960 (3) S 1981 4) feE=r 1979
42, TTAfAEd Fe 1 TAR FW G GET - 1 (SN % TAUTT W) SR Gt - 11 (<91 o gd 71H) i gafea
HIfT
T - 1 T - 11
(SreeT ) (et =TT
(a) @M (i)  <feror afeem sThieR
(b)  FATeiferm (i) SIS
(c) Wl (i) <faror TrefRmn
@) = (iv) =S
%< :

@ () (9 (@
) (@) (v) (D) (i)
) @) @ (Gv) (i)
) () @) @) (@Gv)
)

iv) (i

(iv) (i) @) @)
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43. In which of the following countries India has the largest expatriate community ?
(1) Saudi Arabia (2) UAE (3) Bahrain (4) Oman
44. Match List - I disputes, with List - II, countries involved with the help of given code :
List - I List - I1
(a) Hawar Islands (i) Iran and Iraq
(b) Abu Musa (i) Bahrain and Qatar
(c) Bubiyan and Warbah (iii) Abu Dhabi and Oman
(d) Al Buraimi (iv) Iran and UAE
Code
(@ (b) (o) (d)
O (@ ) O G
@ G O @ )
@) (v) () @) @)
@ 0 @) (v @
45. Identify the correct code for Assertion (A) and Reason (R) :
Assertion (A) : There is an absence of democratic space across Central Asia.
Reason (R) : Presidents of Central Asian Countries have largely failed in creating a
democratic political space and instead become dictatorial.
Codes :
(1) Both (A) and (R) are not correct (2) (R) is the right explanation of (A)
(3)  (A) is right, but (R) is wrong (4) (R) is not the correct explanation of (A)
46. Which of the following group of countries is considered as Caspian Littoral States ?
(1) India, Pakistan, Nepal
(2) Pakistan, Afghanistan, Tajikistan
(3) Kazakhstan, Turkmenistan, Iran
(4) Tajikistan, Uzbekistan, Kyrgyzstan
o-sos [ I 2 paper-n
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e 3T 7T Fe T Hera § Gt - 149 9 T fome) R gt - 1 e 7 7 el | |faw s
EIRENIE] Elﬁﬁl"l :
A -1 T - 11
() TRETEE () & SR
(b) o1 T (i) & S w@
() Ffewm iR Jate (iii) 319 =Tl ofR ST
) o1 et (iv) 3T SR HIH oW STHRM
< :
(@ () (9 (d)
1 G Gv) @ ()
2) @) @ G (i)
G) (v) () (D) ()
“4) @ (@) (v) (i)

frefefaa sfusmem (A) iR adh (R) & o0 W& %2 &1 Team it :
AURIT (A) : T A TR § SAlehdifAh T 1 ANE g |

ek (R) : e TS ST o URLUfd SAE F9 Y cAlhditAh qeiTded T 61 gord & |
fawar 1@ ¥ IR qrmeme o7 T ¥ |

< :
1) (A) 3R (R) A &l & T | 2) (R), (A) F H& =@ T
(3) (A) & ¢ fohg (R) Tefd &1 4) (R), (A) F1 & =men 7 2

frefafed <ei & fha o9 &1 ‘o agdead]’ I59 9 S © 2
(1) ¥R, IfR&IH, are

(2) HIfRET, ABMEIM, qSREH

(3) ST, ThHEM, T
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47. Which among the former Soviet Republics experienced a war with Russian Federation in
Post-Soviet years ?
(1) Estonia (2) Uzbekistan (3) Georgia (4) Azerbaijan
48. Match the rivers given in List - I with the countries they pass through given in List - II by
using the code given below :
List - I List - II
(Rivers) (Countries)
(a) Amu Darya (i)  Uzbekistan, Tajikistan
(b) Ob (i) Kazakhstan, Russia
(c) Syr Darya (iii) Kyrgyzstan, Uzbekistan, Kazakhstan
(d) The Ural (iv) Russia, Kazakhstan
Codes :
(@ (b) (o) (d)
® @O @ @) @)
(2) (@) (@) Gv) @
() Gv) (@) @) @)
4 Gv) @) @ ()
49. Which of the following countries share borders with the Aral Sea ?
(1) Kazakhstan, Kyrgyzstan (2) Uzbekistan, Kazakhstan
(3) Tajikistan, Uzbekistan (4) Kyrgyzstan, Tajikistan
S T —
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50. Match the authors given in List - I with their books in List - II with help of the codes given
below :
List - I List - II
(Authors) (Books)
(a) Dick Wilson (i) Slender was the Threat
(b) Pervez Musharraf (i) Asia Awakes
(c) L.P.Sen (iii) In the Line of Fire
(d) Pupul Jaykar (iv) Indira Gandhi
Codes :
@@ (b) (o) (d)
1) @ @) @) 0
2 @ @) @§@) (v)
() @ @) @ ()
4) () (@v) @@ @
51. Nepal as a “Zone of Peace” Proposal by the then king Birendra was put forward in which
one of the following years ?
(1) 1975 (2) 1990 (3) 2001 (4) 1995
52. Name the governor of Pakistan’s Punjab province, who was assassinated by one of his own
security guards on 4" January 2011 :
(1) Benazir Bhutto (2) Shahbaz Bhatti (3) Salman Taseer (4) Shahbaz Sharif
53. What does the “Gujral Doctrine” refer to ?
(1) Gujjars should be given reservations.
(2) Indiashould not seek reciprocity in its relations with its small neighbours except Pakistan.
(3)  Prime Minister I.LK. Gujral wanted to take charge of foreign policy.
(4) The responsibility of foreign policy making should not be given to one person.
oo [N 2 papeca
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54. The idea of an “One Day Revolution” was given by whom and in which country ?
(1) V. Prabhakaran, Sri Lanka (2) Prachanda, Nepal
(3) Kanu Sanyal, India (4) Rohana Wijeweera, Sri Lanka
55. McMahon line is the boundary between :
(1) India and Bangladesh (2) India and Myanmar
(3) India and China (4) India and Pakistan
56. Which one of the following is not intertwined with India’s Nuclear Doctrine ?
(1) Credible minimum deterrence
(2) No First Use
(3) First Use
(4) Retaliation against BMD attack, including chemical and biological weapons
57. Which one among the following Indian states shares the longest border with neighbouring
Bangladesh ?
(1) Assam (2) Tripura (3) West Bengal (4) Mizoram
58. Who developed the concept of Judicial Review in the US ?
(1) James Madison (2) Thomas Jefferson
(3)  Justice Marshall (4) John Adams
59. The first Popal address to the US Congress was on which of the following date and year ?
(1) 15 July, 2015 (2) 26 August, 2015
(3) 24 September, 2015 (4) 2 October, 2015
60. The New Freedom Programme was introduced by which one of the US Presidents ?
(1) Theodore Roosevelt (2) Woodrow Wilson
(3) John Adams (4) Warren Harding
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61. Identify the major cause of the failure of US - Soviet detente in the seventies :
(1) Proxy Wars (2) Domestic developments
(3) Technological supremacy (4) Resource scarcity
62. Identify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : The US intervention in the name of ‘good government’ in Mexico was
recognized as aggressive and illegitimate.
Reason (R) : The Mexican Civil War developments brought US into a complex situation
due to its role in the affairs of Mexico.
Codes :
(1) Both (A) and (R) are not correct
(2) Both (A) and (R) are correct
(3)  (A) is correct but (R) is not correct
(4)  (A) is not correct but (R) is correct
63. Match the leaders mentioned in List - I with the countries mentioned in List - II with the
help of the code given below :
List - I List - II
(Leaders) (Countries)
(a) General Ernesto Geisel (i) Peru
(b) Ruiz Cortines (i) Chile
(c) General Juan Velasco (iii) Mexico
(d) Jorge Alessandri (iv) Brazil
Codes :
@@ (b) (9 (d)
1 @ Gv) @ (i)
) (v) @) @ 3
G) @O (Gv) @) ()
4) (@) @) @) @)
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64. The Parana River dam is located between which of the following countries ?
(1) Columbia and Peru (2) Panama and Mexico
(3) Brazil and Paraguay (4) Haiti and Honduras
65. Identify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : In Latin America changing social and political environment women became
a crucial decisive actor in the public sphere.
Reason (R) : Women collectively organised social movements for human rights and social
welfare alongside their contribution to the household economy.
Codes :
(1) Both (A) and (R) are correct (2) Both (A) and (R) are incorrect
(3) (A) is correct but (R) is incorrect (4) (A) is not correct but (R) is correct
66. Identify the major demand of the ‘Mothers of the Plaza de Mayo’ :
(1) Equal rights (2) Equal wages
(3) Information on disappearances (4) Education
67. Who, among the following leaders, advocated ‘Spiritual Socialism’ ?
(1) Manuel Prado (2) Lopez Portillo
(3) Juan Jose Arevalo Burmejo (4) Nicolas Avellaneda
68. Which country was nicknamed as the ‘Sick Man of South America’ in the 1990s ?
(1) Argentina (2) Brazil (3) Peru (4) Venezuela
69. The ‘theology of liberation” was a direct reaction to which of the following issues in Latin
America ?
(1) Social question (2) Political question
Religious question (4) Economic question
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70. Which US President declared the ‘Good Neighbour Policy” for Latin America ?

(1) Woodrow Wilson (2)  Franklin Roosevelt

(3) James Monroe (4) John Adams

Read the following paragraph and answer the following questions from 71 to 75 :

Both mercantalism and socialism are types of economic nationalism, but the historical
reality is that the outcome of the Cold War left the values of economic liberalism dominant.
Together with accelerating processes of globalization, this has increasingly shaped a world
characterised by a global economy underpinned by liberal market values, with the emphasis
on achieving a situation where there are as few restraints as possible on the movement of
goods, capital, services, and people.

For the foreseeable future, it will be the liberal agenda that dominates the debates on
what economic security is, and its place within the broader meaning of security itself. From
the liberal perspective, the emphasis is on achieving an unfettered international market, but
there is also a recognition that pursuing the liberal agenda creates major social and political
difficulties for developing and transition states and that the problem of the widening gap
between the rich states and the very poor states needs to be addressed. This is reflected in the
economic agenda of human security. It is important to recognize that the triumph of the
west has also put capitalism on trial. For the failure of the liberal market system to provide
security for millions of the world’s poor must be laid at the feet of a global economic system
that is currently unchallenged.

In the context of a broadened approach to security, the concept of economic security
opens up a number of crucial areas of international relations to analysis within the security

context. However, it is important to raise a number of significant challenges here, without
necessarily condemning economic security totally as an analytical tool.

71. What are other types of economic nationalism ?

(1) Spiritualism (2) Capitalism (3)  Nihilism (4) Mercantilism

72. How has globalization affected economic nationalism ?

(1) Limited its scope (2) Widened its scope
(3) Maintained status quo (4) Negated all its features
ososs [ VRCANAN 5 papeca
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73.  What will dominate the agenda of debate on economic nationalism in the future ?

(1) Liberal approach (2) Rigid approach

(3)  Free for all discourse (4) Dictatorial approach

74. How has the triumph of the west put capitalism on trial ?
(1) Bridged the gap between the rich and poor nations
(2) Provided scope for debate on liberal approach
(38) Created political and social difficulties for developing states

(4) Resolved all human security problems

75. How is economic security important in the wider context of overall security ?
(1) Opens up door for wider debate
(2) Closes the door for discourses
(3) Belittles the importance of economic issues

(4) Throws open significant challenges
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